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02 scanf("%d%d", &n, &m); féf”*%/\
03 for (i=0; i<n; i++) 2154353
04  scanf("%d", &pl[i]); 8912

05 for (i=j=0; j<m; j++) {
06  scanf("%d", &q);

09}
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01intn, m,i,j, r, q, p[200000];

02 scanf("%d%d", &n, &m);
03 for (i=0; i<n; i++)

04  scanf("%d", &pli]);
05 for (i=j=0; j<m; j++) {

06  scanf("%d", &q);

07  for (r=0; r<q; i=(i+1)%n) « DIEEE

08 r+=plil;
09}
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01Tintn, m,1,j,r, q, p[200000];
02 scanf("%d%d", &n, &m); féf”*%/\
03 for (i=0; i<n; i++) 2154353
04  scanf("%d", &pl[i]); 8912

05 for (i=)=0; j<m; j++) {
06  scanf("%d", &q);
07  for (r=0; r<q; i=(i+1)%n) « D/ EFE

fE R —E] e R pj i
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08 r+=pli; r & R R EHYEEEL
09} « FZEZ n [ SR AVRHERE FHER
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01intn, m,i,j, r, q, p[200000];

02 scanf("%d%d", &n, &m);
03 for (i=0; i<n; i++)

04  scanf("%d", &pli]);
05 for (i=j=0; j<m; j++) {

06  scanf("%d", &q);

07 for (r=0; r<q; i=(i+1)%n)  LUEE

08 r+=plil;
09}
10 printf("%d\n", 1);
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01Tintn, m,1,j,r, q, p[200000];
02 scanf("%d%d", &n, &m); fﬁf =8
03 for (i=0; i<n; i++) 2154353
04  scanf("%d", &p[i]); 8912
05 for (i=j=0; j<m; j++) { i 51—
06 scanf("%d", &q); 4
07 for (r=0; r<q; i=(i+1)%n) « DL B —R]— R B R R4
08 r+=pl[il; r & R FIHYRREL
oy -+ EIESE n BERIOEHER R
10 printf("%d\n", i); DL n HYEREBET X P51 i Al
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